EARAROBEEIERT — 2 N— IBISH —F

2016%3H30A (k) 14mIliE3H

W o%R—fKk C2A+11

‘ (%] 8 ‘ [EmmEl  — | 4 () 14000 &

[A~&£] 1 7% :1,000,000  ~ 23 :300,000d 373 :180,000 "

4 7% 120,000 . 5 3& : 100,000 M

B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R .- *555[' . . _Q_1_ . — E’HE— (““IE})
1 7177 42 KR3I— 4 4 »5»2_10 1(3_2)6 4-3-3-4 | 40.7 2 <4+7e7) ?EEEEEJIJ
LV RYTYZIIZ BN TIv— FRBE%S
O 5 o BEHB :33. —7-8- X — NAAZ (J11g)
5 6 F—IN—H ky T 4 6 B 1(333)3 8-7-8-8 | 41.1 5 (4+713) s
LF=TANNT N B:XA—-b8T5v T FRESS
- = ATHER : -1-1- — N G )
3 2 I X 7}[/'7}[/ |‘7 Ho4 56_0L 1(‘13/32.)4 1 2.0 B (4_233) %%Mﬁ
STITFNT L2 B IFOvAr R4S
LEIR : 00— — EHEE (fafE)
alaliol 7 vemeny 4 R B R P (i
R:7V1T13IV4— B:X¥tEy b BEINT7—L4
N € 4 | BMEEKR 1:33.7 7-5-6-6 | 41.3| — 4 4n | HEAARTH (fafE)
EH 3 =TT — L - 56.n0 (1/2) (0) THES ;
LR:T7ROFLILL BikyaA—YIX4 Frligkis
o 4 6 | MR 1:33.9 5-6-6-7 |41.8| — 3 465 | tEBERE= (/1)
6|78 NZ M FIN 56.0 (3/4) +2) AHESR
L:ZXF¥v> BiLILAr SRk e
= o HiRE : -9—-10- — HEHEE (A
7 4| 770 =Y — 6 B 1(73?:? 10-9-10-9 | 40.9 7 (4_755) 8ol
RiAyANAY— B:T7Y— bEATF W\ 8%
= N BHEAH : —4-3- - AHEBEZE (1)
8l7lg|FroT514— #H 5 B 1(/73?:) 3-4-3-3 | 42.0 1 fao) Ao
R:TFRYAYRY B:3a—-YANIA JIE sk
SINS L S0 44 | WUMEEE 1:34.0 11-10-9-10 | 40.8 | — 10 a1 | EARE (I1E)
911 ININT 27 2> 54.0 (1/2) (+5) EIEE
LTHAFUSv— BHLTr—EaT HREHS
- X P o, g5 8| — EREISAE (1110)
10515 S—LY31LX 4 7 1(344)9 9-8-5-5 | 42.8 6 (4+779) =
R:TSATLRE ML BT )T 493571~ HBBAYS
S fn N EHEZ - - - RS (AafE)
x| 8|11| P TETI N BB (ehat) o s :??) mEE—
Lihxrex) B:TUED-X 55 Rikie
@ 1 — S —EBlIEf
13=7r= 2,10,9,7,8,11,3,6,5,4,1
2=1—F— 2,10,7,9,3,8,6,5,4,1
Jol=5r= 2,10,(7,9),5,(3,8),6,1,4
40—+ — 2,10,9,7,5,3,8,6,4,1
[ N3
BB 7 440M 714K 6-7 750M % E 6-6 2,830H 3EHE 2-6-7 25,510
8 B 7 200M 2-7 3,330 B 6-6 2,880M K31 7-6-2 86,300
6 300H 2-6 4,000/ B E 6-7 2,160/
2 1,090 BB 7-6 4,610M

ABICOVWTRDTEEERROODE. TR LIV,




